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:H� ZHUH� LQVWUXFWHG� E\� &DPEULGJH� ,QYHVWPHQW� 3DUWQHUVKLS� WR� VXSSRUW� D�
SODQQLQJ� DSSOLFDWLRQ� WKH� UHGHYHORSPHQW� RI� DQ� H[LVWLQJ� &RPPXQLW\� &HQWUH��
SURYLGLQJ� DQ� LPSURYHG� &RPPXQLW\� +XE� DORQJVLGH� D� UHVLGHQWLDO� GHYHORSPHQW�
IRU����GZHOOLQJV��&DPEULGJH�,QYHVWPHQW�3DUWQHUVKLS�LV�D�MRLQW�YHQWXUH�EHWZHHQ�
&DPEULGJH� &LW\� &RXQFLO� DQG� +LOO� 5HVLGHQWLDO� WR� GHOLYHU� DIIRUGDEOH� KRXVLQJ�
DFURVV�WKH�&LW\ 
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:H� LQLWLDOO\� SURYLGHG� IHDVLELOLW\� DGYLFH� ZLWK� UHJDUGV� WR� WKH� SRWHQWLDO� DFFHVV�
RSSRUWXQLWLHV� WR� WKH� VLWH� IURP� WKH� VXUURXQGLQJ�QHWZRUN� LQFOXGLQJ� D� UHYLHZ�RI�
WKH�VXLWDELOLW\�RI�WKH�H[LVWLQJ�DFFHVV�DUUDQJHPHQW�WKDW�VXSSRUWHG�WKH�RSHUDWLRQ�
RI�WKH�FRPPXQLW\�FHQWUH�� 
 
)ROORZLQJ� WKLV�� ZH� SUHSDUHG� D� 7UDQVSRUW� $VVHVVPHQW�� ZLWK� DFFRPSDQ\LQJ�
GUDZLQJV��DQG�)UDPHZRUN�7UDYHO�3ODQ�WR�VXSSRUW�WKH�SODQQLQJ�DSSOLFDWLRQ��7KH�
ZRUN�GHPRQVWUDWHG�WKDW�WKH�GHYHORSPHQW�FRXOG�EH�DFFRPPRGDWHG�ZLWKLQ�WKH�
ORFDO�WUDQVSRUW�QHWZRUN�VDIHW\�DQG�ZLWKRXW�DQ�LPSDFW��$V�SDUW�RI�WKH�SURSRVDOV��
ZH�GHVLJQHG�DQ�XSJUDGH�WR�DQ�H[LVWLQJ�]HEUD�FURVVLQJ�WR�D�SDUDOOHO�FURVVLQJ�WR�
VXSSRUW�FRQQHFWLRQV�RQ�IRRW�DQG�E\�F\FOH�LQWR�DQG�RXW�RI�WKH�VLWH�� 
 
)ROORZLQJ�VXEPLVVLRQ�RI�WKH�SODQQLQJ�DSSOLFDWLRQ��ZH�UHVSRQGHG�WR�FRPPHQWV�
IURP� WKH� +LJKZD\� $XWKRULW\� LQFOXGLQJ� XSGDWHG� PRGHOOLQJ� WR� DGGUHVV�
FXPXODWLYH� LPSDFW� FRQFHUQV��6XEVHTXHQWO\��RIILFHUV� UDLVHG�QR�REMHFWLRQ� WR� WKH�
GHYHORSPHQW� 
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7KH�VFKHPH�ZDV�JUDQWHG�SODQQLQJ�SHUPLVVLRQ�LQ������ 
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